9 8 6 5 4 3 2 |
| DIMENSIONS WITHOUT
TOLERANCES
DS/ISO 2768-
F
- 12.00 B
|| 4.00
240.00-0Old 10.00
- 2.00
7 3 ] ;
@) O -
A
: O
o \ / O Q D
Q ) ! S <
0 > o S o~ )
™ o o~
// \ (Y)
Y
O @) - i i i i i i i i
. ) Nofte. C
Standard nut M4 = 8 pcs.
| Lock washer M4 = 8 pcs |
put it in a separate zip bag in the package
189.00
3 280.00 - i
Sheet1 /2]
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 EXTER K60 EG=2.0t mm. 1
2 PEM FH-M4-12 X--N 8
3 Gasket K60 T=2.0 mm. ] [
4 1700000030 Nut M4 8
5 1721480160 Lock Washer M4 8
Powder paint interpon 610 silver
6 2200000504 fine texture 0.01
— — MATER'AL THIS DRAWING REMAINS THE EXCLUSIVE
COSTOMER Beijer Suvr:‘/c;(i:gek;tmgrh?
Spv s Toaland) Co. ig CUSTOMER/NO.: scae 1]
il e, || DESCRIPTION: = A3
All dimensions are in millimeter. Adaptor plate from K60/E1060/E1062 to X2 pro 7 @
DATE RELEASED SIGN. GPV ITEM NO.: DATECHECKED QC Gon
| 20180305-K60 BOO
9 8 6 5 4 3 PROJECTNO.:




/ é S

240.00-Old ___10.00
a 3
@) @) O
)
\\
~_
~_ 5
3 ~._ O g
° % < °l| 8 ¢«
N - ~_ SIRY
// .
//
// ~
;/ 189.00 \;
Y
@) @) O
- )
280.00

A

Scale 1:1 20180305-K60 BOO Sheet?2 /2

/ 6 S

Y




	Sheet1
	Drawing View2
	Drawing View12

	Sheet4
	Drawing View13


